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I ® mwn: combination of various nam *wTp, 2”n1 w1p and nam TP with N*an pTa for NY'yn
a  nam w72 combine with each other to generate N> yn avn (nYv1a MW) and for YW of V1
b 2772 »w7p. combine with each other to generate n%yn avn
c 2773 w7p) nam w7z combine with each other to generate nY'yn avn
i Question: once the last rule is established, the first two are obvious
ii  Answer: the first rule had to be stated to include y1’% of V"9, which isn’t relevant to 2”na
I »x»'v’s surprising ruling [sic]: n%»n only applies to n’an 12 and to N
a  Source: v.1-"n w1p — that which belongs exclusively to 'n
i Challenge 1: our mwn — Narm *WTp join to form MYw
1  Answer: that is a7 1Yyn
ii  Challenge 2: ®:X nyn — if he slaughtered 7”p7p in the south — n%yn still applies
1  Answer: that is a7 nYyn
iii ~ Challenge 3: ®:n n%yn — NRIN from NRYN
1  Answer: that is also 1313770 nY'vn
iv  Challenge 4: »27’'s interpretation of v. 2 — that ©’>p WP "R are also subject to nNYyn
1 Asnwer: that is 1322971 n%Yn (use of v. 2 — RNINOR)
v Challenge 5: R)'’s statement — that »wTp that died have n”nn n%yn lifted (>while alive, n”nn n%yn applies)
1 And: that cannot refer to nan p73; as N»’yn there applies n”nn even after death; = nam »v1p
b Rather: 8y "1 meant that v. 1 only gives us nan p7a >w1p (and ")
III 12 mwn: components of N9 (not “n%1Y”) and nTn which can be combined to form n%yn MYw and v
a 721 meat, fats, flour, wine, oil (of D703)
b 7m meat, fat, flour, wine, oil (of D201) and loaves
i Related xnoown (na:x 722vp): N9y and its DR can be 970N for N1 for yina nxYyn and for V"9

1 Challenge: we understand that only n% (but not n'n%w) can be reckoned for yina nrYyn, as on>v-meat aren’t included

(a) But: why aren’t n5w joined with their o™ for v"9?
(i) Per: next mwn — all 0913 are 97v¥n and all o»n are g10%N

2 Rather: read n%y and its DR join to make no1a to allow 77771 (if rest of 25m qwa are gone) > they join together for v"a

(a) Per:ywin "2 who allows 77071 as long as there is a 1’13 of 9wa or 25n
(i) But: Y27wa m1a + %5 250 13 do not join, except in N5, since all is burnt up
1. And: even if entire nmn (0’201 NNIn) remains, insufficient for 7”071 if no 9w o1y of Nar remains

IV 22 mwn: various items called “nmAan” (0112221 nYN ,2RNT YV PN NN ,3"IN) which can be joined

a  To: generate Mo*R (if they fall into P9 N; require 100x aggregate for 51071)

b  And: to require payment of wmn for a 1t’s consumption (Mw1)

i Note: nbn and o131 are both called "non” (vv. 3, 4; in v. 4 — 77 nm N is understood to refer to D’ 11321)

V13 mwn: all D% can join to make 1> My’w; all 01N can join to make n>ty MW
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